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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1.

Total cost includes in cost: 19 DY Y P Silef 1.1

(A) Fixed 2™
(C) Average Ll
2. The curve of marginal revenue under monopoly is:
(A) Vertical (5
(C) Downward from left to right Z_u’ h::..gf L
3. Supply is fixed in:
(A) Short run market L,ffdivJ,.efJ-’-E
(C) Daily market (~Sax.y
4. When wage increases, the supply of labour:
(A) Decreases ¢.L}b.r
(C) remains cnnstant .:.Uﬁu( -
5. Netrentis regt . "
(A) Differential 37  (B) QuasiJ”
6. The part of Macro economics is:
(A) Public finance = U\J/Er
(C) Consumer's behaviour b isle
7. The founder of classical economics is:
(A) Pigue & (B) Robbins
8. Human want, which is fulfi lled free of cost is:
(A) Economic want H?Lwdb»
(C) Basic need =i 5K

9. When the marginal utility of all purchasing goods becomes equal,

the law will apply:
(A) Law of demand s
(C) Law of equi marginal utility (“! BISslay JF

10. If the prices of dependent and independent variables are inverse to

each other, the functional relation will be:
(A) Decreasing ©  (B) Increasing (2

- (B) Long run markét u"dylf,.afdj

(C) Scarcity Ju

(B) Variable . 2*

(D) Fixed and variable f‘,‘.ulg,t"
Lbﬁbifdﬂf{eﬁ:dmubl 2

(B) Horizontal to ox Lf.xfr‘"inx

(D) Upward from left to right ./.slu” I:;:,JL

::..(}r(,.r."’yx 3

(D) Generalmarket (=il
_ #JJJ?L.lmb‘uﬂf//u? 4

(B) Increases < {bok _

(D) Less or more r_u}dﬁu’“:[{
wb___etnbf 5

(D) Ecnnumlc u’hﬁ

o | e obeltof 6

(B) International Trade ...ul.fd A

(D) National Income (7S¢ ;
| LdLﬂgJLElf 7
(D) Ricardo 8

e QU tainarbiL 8

(B) Non economic want h.alpgf bf;,-"

(D) Luxury e2b(siT

Sl T ALl o ALV BN

:Bazs' U

(B) Law of diminishing marginal utlllty ubidﬁ:;ﬁ'

(D) Law of increasing return  Jbz7

.!Ur(,.l’.sg’ d:f._/u‘..f LL"; J/"‘" 55:‘4:!.&1'.:!/(; 10
B2 S0

(D) Fixed .2

(C) Adam Smith #74!

(C) Implicit #*

11. When demand changes due to other factors, not due to price,is called: r_b‘LU/}'erJ:.;:J e piomsteded o 11

(A) Extension of demand (dg¥_L

(B) Contraction of demand g N

(C) Extension and contraction of demand tﬁsfb},ﬁgb’uﬁ (D) Rise and fali of demand. M:lbwb’._ﬁ

12. The formula of Arc elasticity is presented by:
(A) Marshall &7t (B) Robbins & 7

13. Supply curve moves from left to right upward.This tendency is called:

(B) Positive b

*

(A) Negative (¢
14. The reason for expansion of supply is,

(A) Population (3l7  (B) Technology @&4L€
15. The market is in equilibrium, when;

(A) Demand is greater than supply  ssslje s W

(C) Demand is equal to supply L:U.:C#.:._.Jb

16. If demand and supply both rise in same proportion, then equilibrium :

(A) Price decreases < Qleosr(ed
(C) Price increases r_dlm..e:...u’
17. Functional relation between output and input is called:
(A) Sources of Producation - Jlx s
(C) Production function (Fla i
18. The reward of capital js:
(A) Rent ¥ (B) Wage =
19. The other name of law of increasing return is:
(A) Decreasing return J’" bJ:CE’ .
(C) Decreasing cost e

20. The movement of a labourer from lower to higher grade is a mobility: ez

(A) Occupational <lls2: (B) Horizontal u"l
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g.qu*ums’.ﬁwb’J 12
(D) Adam Smlth el
q.bljv(ul?zgu;t'lp:c'ﬁgf'br_u’ Lasts 13
(D) Vertical Sosf
23 J LEL 1y 14
(o) Price ol
d:f[_}.u.;‘;dﬂ .15
(B) Demand is Iess than supply r LFJJ
(D) Demandis zero s A
(NI e U S L LS 16
(B) Price does not change dﬂui"’(,f.m...x’
(D) Quantity decreases q_.dlpr e
e bl bl i Pl A7
(B) Production s Fix
(D) Technique of production 'J"l“,J’_)
LH.!I?‘ELL/-‘ .18
(D) Profit &b
PR < TR

(C) Allen &
(C) Horizontal &

(C) Income (7

(C) Interest .

(B) Increasing cost ...:.;w/f
(D) Variable proportion _ ...«Irl,«f‘"

I.F tﬂf -_!,)’L;;J:L? [G-.-P‘JJHJE:’J.?/UJ’ 20.
C) Vertical duf (D) Social @&



Inter - (Part-1)-A-2015

Roll No.___ S i (For all sessions)
Economics (Essay Type)
Marks: 80 Time: 2:30 Hours & 2:30:3

SubjectCode | 6 | 0 | 1

280 ..:.,“L-ﬁb»
80 /

i
Jii

Vil
Vil

Xi
Xii

i
il

Vi
Vil
Vii
JAX
X
Xi
X
Xiii

Section -1 2x25=50 Jilo

2- Write short answers of any eight parts from the following. 2x8=16 _ﬁayﬁ/‘?ﬁf!z lﬁf.-:..Jf:,u’ L}' s -2

i. Define capital goods. SIS

ii. What is meant by scarcity of resources? “LJVW:-LBL{JJ %

ii. What is the definition of economics, proposed by Prof. Robbins? "‘;:.J..JJ;’UJHV[:A&_ ﬁ:/’u
iv. Write down four characteristics of Economic Laws. U7 fuLar%bJu’ R
v. What is meant by consumption of wealth? ey Y ehiodf?
vi. Define law of equi-marginal Utility. _J/-—ﬂ/”l.f(ﬂ:b'd!b"uﬂ! Vi
vii. Define indifferent curve. LIS BAS 5,@9 Vi

viii. What is meant by marginal rate of substitution? ?g_;/bﬂ-;,dlw Vil

ix. Write four kinds of variables. - .. rLJLrbd/if’ J

x. What is meant by power of a function? ‘"LJ/JLLLHJJ‘W .
xi. What is meant by statistical data? fesly lr’/c-:f'"dhb"’ Xi
xii. Write down four principles of tabulation. =) /fffdt"JlaLU#JJ# Xii
3- Write short answers of any eight parts from the following. 2x8=16 -éuLfﬁﬁﬁpl!!ﬁT;JfadJ;bz:

i. Describe Elasticity of supply less than one. ..J/ubﬁ;.,d KIJ?JJ}’ :

ii. Define law of demand. —J/J/JJJUJJL! i
i Write three factors of functional importance of elasticity of demand. _JﬁijfU"Z.JIJi J...E JJ
iv. What is meant by zero elastic supply? Tl /lf:....g /""JFJ .
v. What is composite supply? ?a.dru/y.:_.ﬂf :
vi. Why supply curve is increasing? “.——_rfuf B’Jﬁd/{uthﬁ'mb Vi
vii. What is meant by market equilibrium? sl e g IL S

viii. If supply decreses, demand increases, increase in demand greater than Jm,.:Laiu”J n.wf:rwa.bw..albﬁ
supply, what effects will be on equilibrium price and equilibrium quantity? Ta_.t'r.flbfur.wﬂr._u’ dxlf!:’a;t;w"

ix. What effects are on equilibrium price and quantity, when demand Jﬂ,w:u ._Jd;ifc:..d/u"ubxyx.w |

decreases on fixed supply? “.:-_t'.ufiff'

x. Write four important characteristics of Labour. _uﬁfuuﬁr’ LrlpJJ ;
xi. Write three internal sources of capital formation. _Jﬁrfdb:dmrbﬁﬁx /‘}.’."/"

«ii. Write three factors, affecting productivity of land. S FIFEL NG S A St

4- Write short answers of any nine parts from the following. 2x9=18 -éutl.?/‘;é:flj Iﬂ.:..dfc_ut J’:E,u

i. Define scale of production. _r_.b....d/’&f.m.»k' :

ii. What is meant by administrative economies? *‘.—.:.:;Jg;ufbfdtbf
iii. Define large scale production. AL uﬁdfr" 6ok
iv. Write four demerits of small scale production. tLaﬂ;lpLﬁ‘,

v. Distinguish between average and marginal cost. _é:JLzu}u‘J IJ(‘;J;IJ Ukl |
vi. Define marginal return. - a..n!;’ d:‘:(‘“
vii. Write conditions of firm's equilibrium. %ﬂ /JLJJ'J’Z— 7

viii. Write four types of firm in short run under perfect competition. ;56 Lxmthr/u‘ s frnFl

ix. What is meant by market? f‘.:..m/bfa:;.dy

x. What is meant by price discrimination? "'::..:«/L-’/:-._.a’ S
xi. What is meant by marginal product? ?r_.rI/Lfc,.ahlkf*f
xii. Write four causes of difference in profit. PuleLMf g
xiii. Write four functions of labour unicn. ﬁq’ﬂs’ﬂvé’:—u‘f "Ly

Section-IIl

Note: Answer any three questions from the following.

5. Describe the merits and demerits of the definition of
economics stated by Marshall.

6. Expiain the law of diminishing marginal utility with the help

of schedule and diagram.

7. Pinpoint the factors affecting the elasticity of supply.
8. Explain the law of increasing return with the help of table and diagram.
9. Explain two fnrms of equilibrium of firm with the help of diagram

under perfect competition in the short run,
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Inter - (Part-1)-A- 2016

Roll No.

;ﬂ}ﬁ;hgi

Economics (Objective Type)

Marks: 20

1. 1. Nature of economic laws is:
2.

3.

= 10.

11.

12.

13.

14,

19.

20.

(For all sessions)

‘ Time: 30 Minutes &30:=2 ‘
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Paper Code 6 | 1] 111

() P b
20:/17

U S SN s 3re S IED L CBe Asze L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

" question with Marker or pen ink on the answer sheet provided.

(A) Real (8 (B) Scientific L (C)
Economics was considered as Science of material welfare by:

(A) Robbins ;% (B) Adam Smith  #(»7 (C)
Before saturation point, Marginal utility is:

(A) Negative (& (B)
(C) Zero (D)
Total utility becomes maximum when Marginal utility is:

(A) Maximum sslie0slJ (B)
(C) Positive =7 (D)

Variable quantities which are assumed to be constant in a
particular period are called:

(A) Constant J*~  (B) Variables =t (C)
Demand expands due to change in :
(A) Fashion = (B) Population ($st7 (C)

If demand of goods increases due to other factors than price,
it is called demand:

(A) Expansion of ti4  (B) Risein U= (C)
. Supply of perishable goods is:

(A) More sl (B) Less ( (C)
. Supply is a function of:

(A) Price s (B) Quantity & (C)

Market equilibrium is established due to:

(A) Demand <% (B) Supply <4 (C)

Classical theory of population was presented by:

() Malthus UL (B) Recardo s34 (C)
What is included in functions of organization?
(A) Capital formation &1~ (B)

(C) Wages &I (D)
Law of increasing cost is also called: ..
(A) Law of decreasing refurns S b&w u_;ﬁl?
(C) Law of constant returns J"’ ! }FIQJJL?
Law of decreasing returns is mostly applied on:

(A) Agriculture &£l

(B)
(D)

(B)

(C) International trade e {r) e (D)
In long run average total cost curve is:

(A) Ushaped J°U  (B) Ovalshaped (#* (C)
Due o increase in production, average fixed costs:

(A) Increase (i (B)

(C) Decrease L{rg (D)
According to time period the kinds of market are:

(A) 3 (B) 2
A market in which all firms are producing homogeneous
commodities is called:

(A) Monopoly (Sl

(C) Monolpolistic competition +E<l/bnb!

Marginal productivity theory was presented by:

(C)

(B)
(D)

(A) Adam Smith  #77 (B) Pigou s ()
Reward of capital is called:
(A) Profit Ot (B) Interest s (C)

829-011-A-T¢

e e IS5 11

Compulsory iU (D) Optional S/
* LA OB OUE b 2
Keynes (D) Marshall 7t

e bl e s 3

Positive o
Maximum s} jeast) )
-ﬁﬁ:ﬁh,-%i;.t‘m}}:}:::.,a:_l:julih)’(_i;b 4
Zero
Negative (§
SSBS eV for A 5
bzl
Equation <L~ (D) Parameters J~Iz
) s H""‘:.,._:z'r u-u’ 6
Income (4T (D) Price o4
L@JJ&’-JHW&&E&J&.J’KI 7
:si,,ibugz;{.-:_.r?ﬁ:..a" 4
Contractionof ¢ (D) Fallint
) :{_dﬁy;&_bai;%f,y 8
Fixed (D) Zero
14:;_&@#; 9
Demand ¥ (D) Consumption 3/
b6 10
Consumer «<i/le (D) Both A&B s
VRO FRE A1
Robbins (D) Keynes 7
S JEURPILE A2
Efficiency ¥l »
Distribution of Rewards (:'d Surisb-
ot L e Fiv 13
Law of increasing returns b2 /9%
Law of variable proportion .:JVE«'/.’.""} LI
:‘:-_t'ﬁuhﬂl’lfukjgs_}ibdfwc);i? 14
Industry =
Transport J‘:J‘”
eSSl i baef 15
Flat bz (D) Negative (¢
: NS hANL e 22 g 16
Remain constant (& s/ v

None of these (8l

VOIS e UL s AT
6 (D) 4
ber IS eI UL APV S deoisil 18
e BUeuns
Perfect cornpetition JL}&J’;
None of these 7S 0y o
YRSl A9
JBClark S5z (D) Keynes 7
‘et sl o 20
Wages =7 (D) Rent B14
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Econom'ics (Essay Type)

Marks: 80 Time: 2:30 Hours & 2:30:%
Section -I 2x25=50
2- Write short answers of any eight parts from the following. 2x8=16

i

-
-

Xii.
Xiii.

-

Note: Answer any three questions from the following.

5.

00 ~N o

What is meant by Economic wants?

.ii. Differentiate between consumer and capital goods.
i. Write down four characteristics of Economic Laws.
. Differentiate between utility and usefulness.

. Write down four characteristics of human wants.

. What is meant by negative utility?

. What is meant by variables?

i. What is meant by decreasing function?

. What is meant by primary statistical data?

. What is meant by demand?

. State the law of demand.

i. What is meant by elasticily of demand?

Write short answers of any eight parts from the following. 2x8=16

. Define law of supply.

- What is meant by elasticity of supply?

. What is meant by stock?

. What is meant by equilibrium price?

. Show graphically the effect of change in demand on equilibrium guantity.

. Differentiate between horizontal and vertical mobility of labour.
i. What is meant by production of wealth?

i. Define capital,

. What is meant by organization?

. Define law of decreasing returns.

. What is meant by small scale of production?

. Write four advantages of large scale production.

Write short answers of any nine parts from the following. 2x9=18

. What is meant by marginal cost?

. What is meant by fixed cost?

i. What is meant by opportunity cost?

. What is meant by total revenue?

. What is meant by imperfect competition?

. Write assumptions of monopoly.

Vii.

Viil.
IX.
X.
-Xi.

Differentiate between firm and industry.
What is meant by normal profit?
What is meant by money market?
What is meant by intensive cultivation?
What is meant by quasi rent?
What is meant by real wage?
What is meant by interest?
Section-II
10x3=30

Explain the kinds of variables.
How elasticity of demand can be measured by expenditure method?

. Describe the factors affecting the production scale of firm or business.
. Explain the equilibrium of the industry in the long run under

perfect competition.
Point out the purposes of Labour Umons
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Roll No. P AT (For all sessions) Paper Code 6 |1 ]11]1

. . &
Economics (Objective Type) H) b
Marks: 20 Time: 30 Minutes &430:u3 20:7

A g 6dizs ';.«;;?Tf..__,fﬁg’-fugéé_;rm,c.B,A:,I,m.-ﬁ;;;ziwmaeq;qwmuﬁ,rfumgw:;mrru?:..*..-}
s ' -QJ,)?ILLF"LJQ_?L):L;:_}!JW”LJu:jIJZ.D | CB: Asze L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
" question with Marker or pen ink on the answer sheet provided.

1. 1. The founder of classical school of thought is:, :;:_ng’fg.__;rf g .11
(A) Adam Smith  #4! (B) Marshall  JoL (C) Keynes & _ (D) Robbins .
2. The book,"The nature and significance of E¢onomics" was written by: :d’uﬁbﬁucff}g{;?w"__ﬁ( 2
(A) Adam Smith s ¢4/ (B) Marshall fiL (C) Keynes # _ (D) Robbins s
3. The immaterial activities satisfying human wants are called: :Lgduﬁyy/f}dﬂ. /fdr;.i_.ﬁ;gf.:.flgbdm 3
(A) goods  sL-i . (B) satisfaction (/%
(C) specialisation /%" (D) services <=ls .
4. As far as total utility tends to rise,marginal utility remains: ::‘..t‘m:[ifﬁ ?;;_.I:pb'w:::u.:ﬁiuﬁﬁfa 4
(A) Negative & (B) Positive =3 (C) Zero ¥ D) Maximum  ssljealJ
5. The inter relationship between independent and dependent variables is called: it =2nS L end ZBlusbliT 5
(A) Relation  kw (B) Tabulation e (C) Function S (D) Curve 15 _
6. Which pair of goods is an example of complementary demand? ?%J@J?-ﬁdfﬁfﬂb?i.}hﬂ’ .6
(A) Petrol and car JBQJIJ:,% (B) Meat and vegetable dj:";:l..::.-f'f
(C) Tea and coffee  J&nli_l (D) Inkpot and book o Usl=ts _
7. The human desire for the fulfillment of which a person has afﬁurgg;ﬁ;;ﬁfi}dm@i T
purchasing power is called: :‘;_dwfﬂﬁaﬁ
(A) Supply 4~ (B) Demand ¥ (C) Consumption «i® (D) Price =4
8. The slope of supply,curve is: e bxikZ auks .8
(A) Horizontal (5 (B) Vertical (s (C) Positive =i (D). Negative (§”
9. The elasticity of supply of perishable goods is: ) ) :,‘;_dﬁ_,g Jy;&l:.i:; ke 9
(A) Infinite sV (B) Morethanone wlj=(}§1 (C) Less thanone _ﬁ::.db’l (D) Zero
10. When there occurs increase in demand and fall in supply (I IOl }uL{d;ﬁyuﬂijhjL__&__,a 10
with equal ratio,then equilibrium: }
(A) Quanitity increases a;.dlgmi:.:l.@' (B) Quantity falls sg..dwjf,@'
(C) Price rises ;;_.dtng;é (D) Price falls d‘:..def/:.a{’? ) )
11. Which one among the following factors of production is S s il T0up 100 2T g ) LUiEU s 11
geographically immobile? -
(A) Land =) (B) Labour & (C) Capital .l (D) Organisation (f"
12. The person who designs the basic plan of a business is called: ::Tw_t'li-ﬂfﬂ;t'):gfﬁ"'d:_lﬁﬁwﬁ 0s .12
(A) Capitatist 6.4 (B) Manager /5' (C) Entrepreneur 27 (D) Officer /f.:!T
13. The advantage of large scale production is: :ﬁ;_,;ﬁ(‘j’fﬁﬂ; A 13
(A) Division of Labour J'ﬁ'rfﬂ » (B) Over-Production  (ihslag£1J )
(C) Non-equal distribution of wealth .:Jur‘:” J:L»/f (D) Monopolies  Ylissb!
14. When total product is maximum,then marginal product becomes: :ﬁ:,dlgﬁ;l:lﬁ"(‘f?m:_t_j.:.u.}l_..aul,&;f..,;: 14
(A) Minimum  f=¢  (B) Maximum wlicnli  (C) Zero (D) Equal i«
15. Total cost includes: et 15
(A) Fixed cost iler (B) Variable cost isler™
(C) Average cost Aslerbal (D) Fixed and variable coslts ...i.:w/f'""‘.ulu;-’-’"
16. The slope of total revenue curve of a firm in a perfectly competitve e t'niﬁf?ﬁﬁdﬂ:fgf(}uidivd"éw&; 16
market is: .
(A) Negative (§” (B) Positive = (C) Zero (D) Infinite .
17. The number of firms under monopoly is: ::‘._dmlﬂJur);jZdjbulgi 17
(A) 1 (B) 2 (C) 3 D) 4
18. The supply in daily market is: | e Qsiaafo$irry A8
(A) Zero > (B) Fixed o~ (C) Variable (D) Infinite s
19. Interest is reward of: ‘e irbry 19
(A) Capital g2\~ (B) Land &s) (C) labour K== (D) Entrepreneur 27
20. The transaction demand for money is a function of income: ‘ :,-;-_.d‘té? E’dﬁ._,ibdubq}:} 20
(A) Increasing d/f"” (B) Decreasing d.',p (C) Implicit /‘“" (D) Inverse Jﬁ‘
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Inter - (Part-1)-A-2017

RollNo.__ _/o#sxi| (For all sessions )
Economics (Essay Type)
Marks: 80 Time: 2:30 Hours o 2:30:23

Section -1 2x25=50

2- Write short answers of any eight parts from the following. 2x8=16

I.
i
il

Vil.
viil.

Xiii.

‘Note: Answer any three questions from the following.

5.

What is meant by micro economics?

Write down the definition of economics given by Professor Robbins.
What is meant by Art? -

iv. What is meant by utility?

. What is meant by marginal rate of substitution?
. What is meant by saturation point?

I. What is meant by consumer?

i. What is meant by dependent variable?

. What is meant by income elasticity?

. What is meant by demand?

. What is meant by point elasticity?

i. What is meant by substitution effect?

Write short answers of any eight parts from the following. 2x8=16

. State the law of supply.

. State four causes of changes in supply,

i. If Qs=5+2P and price is rupees 10,find out supply.

. Write four factors that influence elasticity of supply.

. Prepare schedule of equilibrium of demand and supply.

. Write down four factors that influence effenciency of land .

What is meant by occupational mobility of Labour?
What two methods were given by Malthus for the cnntrnl of
population in his theory?

. Differentiate between material and non-material capltal

What is meant by external economics?

. Write four advantages of large scale production,
ii. State the law of constant return.

Write short answers of any nine parts from the following. 2x9=18

. Write down any three factors to determinate the scale of production.
. What is meant by cost of production?

i. What is meant by marginal cost?

. Define average revenue,

. Define the equilibrium of Firm.

. Define monopoly.

ii. Describe four characterlstlcs of perfect cumpetltlon in the short run.

. Define market.

What is meant by Price discrimination?

. What'is meant by Rent?
i. Differentiate between money and real wage.
. Differenciate between Net profit and Gross profit.

- Wirite down the definition of Ricardo's theory of Rent.

Section-II
10x3=30

Explain the merits and demerits of professor Robbin's definition
of economics.

. Explain the law of equi-marginal utility with the help of

schedule and diagram.

. Explain the following

(i) Extension and g:nn'tractiun of supply (ii) Rise,Fall of demand.
Explain firm's equilibrium under perfect competition when it.
(i) Gets normal profit.  (ii) Faces normal loss.

. What is meant by Labour union?Describe the functions of Labour union.
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Roll No. o SGsp (For all sessions) Paper Code 61115

: P &
Economics (Objective Type) (&) b
Marks: 20 Time: 30 Minutes &#30:=% 20: 4

A8z Fen WAt L&D C B AR L iy 4‘% b’dlﬁﬁ/&@;;;fg.{.;unrf—a:@;
' U eSS BN 52 S LD L CBe A sz L
", NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
. question with Marker or pen ink on the answer sheet provided.

1. 1. The reward of which factor of production is not pre-determined? ?bﬁﬁﬁiaég,ﬁ:hﬂﬁﬁﬂ HFe” 1.1
(A) Land (B) Labour = (C) Capital L, (D) Organizer (%
2. One of the following capital can be used repeatedly. e AUl ALl iS5 2
(A) Fixed (¥ (B) Sunk b (C) Circulatory ($41s (D) Remunerative 7/
3. Law of decreasing cost is also called law of; B, 241 S IR koyse 3
(A) Decreasing returns (}* L E* (B) Increasing returns b5 ‘
; (C) Constant returns  JdLE (D) Variable proportions =\-£/2>
4. The economies which are related to a particular firm are SO e L;“:Bﬂﬁ,r;‘;.rjjﬁu’fzuﬁfﬁl 4
called economies. _ .
(A) Business (4w (B) External sz (C) Technical & (D) Internal (s.sf
5. The long run average cost curve is: PR Y Py S YN
(A) U-shaped E'yu (B) Oval shaped ($+% (C) Flat &2 _ (D) Horizontal &
6. In perect competition a firm's average revenue is equal to: tee dﬁ,g{:{d,ﬂ,y,er)JLJ,u.‘_}; 6
(A) Total revenue d!"":()( (B) Marginal revenue (s¢
(C) Average cost ilerksl (D) Marginal cost ...i.fw""_' i
7. When marginal revenue is zero, then total revenue is: I%dﬁdfj&}%dﬁ)‘dﬂjfgﬁ iy |
(A) Maximum obicssti  (B) Minimum (=" (C) Positive =4 (D) Nagative (*
8. When average revenue and average cost of a firm are equal to e QUpA e L St 1S bt S 8
each other, then firm earns: .
(A) Abnormal profit Ebalesils1s (B) Normal profit k(L
(C) Abnormal loss  Li}s™# (D) Normalloss @ldds™
9. The concept of Quasi rent was presented by: . :gﬁ-jﬁﬁgrt 9
5 (A) Adam Smith ¢4l (B) Malthus { (C) Marshall 7L (D) Keynes /
- 10. Reward of capital is called: ‘ :?—tm‘:"’l”'{:"’/ 10
(A) Rent ¥ (B) Interest s (C) Profit &t (D) Wages =.2f
" 11. Economics is considered as "Science of Wealth" by: o) PRy ,I'ﬁ_,kit,, 11
| (A) Pigou & & (B) Adam Smith 2L #“¢4  (C) Robbins i (D) Keynes &
12. The problem of employment is discussed in: e tTet kK 12
(A) Microeconomics (reliba(§s2 (B) Macroeconomics u::.,!f—bff ’
(C) Monetary Economics s A be(50 (D) Industrial Economics u_?_&?b*'n:‘#
13.  When total utility is maximum, then marginal utility: :uLil?“;?;I:.t'ﬁupc_u_l,juliigf.,.a 13
(A) Increases < L= (B) is zero <t (C) Decreases .r.‘;l:f (D) is negative ;‘;.md”
14.  The basis of law of demand is: :ﬁ_{gJ#@;ﬁ‘ 14
(A) Law of Equi-marginal utility "f‘i:lild.sl,-«'c;ﬁﬁ' (B) Law of diminishing marginal utility ﬁ.:lil;_}:l"'" L;J.Jh"
© (C) Law of supply +sE (D) Law of moral wsFW!I
15.  The shape of the graph of quadratic equation is: ) e dﬁfJ_if/(Z..:;hL.ﬁJ.m; A5
- (A) Kinked % (B) Straight line ﬁf‘/ b (C) Parabolic V/"’ (D) Vertical osf
16. The increase in demandﬁdue to an increase in income is called: ::‘:_,I:'lgtf@/é._m:_lz.?f_x,flﬁ:_ i..LHu:J_;T .16
(A) Fallin demand t/¥_1 (B) Contraction in demand t5¥_1
« - (C) Extension of demand tiZ¥_¥ (D) Riseindemand C(ez6t
17. The demand for the cheapest goods is: ‘e dﬂ.__,lb&‘_l}f&’/y_q A7
" (A) More elastic ;b.gug.i (B) Less elastic ;r,«.gf (C) Inelastic ;Lug/;’ D) Infinite 471
" 18. The slope of supply curve of perishable goods is: :;f_tﬁiﬁi»fﬁy;ﬁ!:;?l;%by .18
: (A) Horizontal S (B) Negative (¢ (C) Vertical ($sf i (D) Positive o
19. When supply curve passes through origin, then elasticity of demand is: :;;_dﬂ_.g Jm?‘:_;}f.:.dpfgmﬁ.,q 19
(A) Equal to unity 1, ¥ (B) Greater than unity e
(C) Less than unity (=¥ (D) Infinite 354 '
20. When demand increases more than increase in supply, then equilibrium price: el u;l??m:p;;,.iuru!mdL:afu.f..,ib__.ﬁz 20
(A) Decreases :i:,d.vf( (B) Increases < (5% _
(C) Remains the same ﬁ:.c'i”?.r{_ﬁ: (D) Indeterminate {_d:«fc}f’ /;‘

863-011-A-TC W



Inter - (Part-I)-A-2018

(For all sessions)

L-/.{EJ}J'.‘IA_JT

RollNeo. ________ ______

EconcmicCs (Essay Type)

with the help of schedule and diagram.
Explain Liquidity Preference Theory in detail.
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Marks: 80 Time: 2:30 Hours £ 2:30:0 80 /J
fw Section -I 2x25=50 djf,.:a)
2. Write short answers of any eight parts from the following. 2x8=16 ..c"f.....rl.i.?/".—'_"_fl!w !;:.Jfr_--ufJ:E,;: -2
s i What is meant by public and private goods? el /U’C—FVIJJJFJJE}’ J
i What is meant by complementary wants? “a.;r NS o T
i, Describe the alternative use of resources. éubdbffd:v( B3 il
_iv. What is meant by Moral laws? '?L..!T/U/c'..-‘_)" !:’dlbi iv
v. What is meant by initial utility? S /I.f.::.,u:bidfyf v
“  vi. What is meant by negative utility? ".:_.sybﬂ;ulsld' vi
vii. What is meant by consumer? St PP sle Vil
’ viii. What is meant by continuous variabie? )l /If.:_/”‘d’v Viil
ix. What is meant by durable goods? ':'c:..!i Ve dPUIEL Lix
x. What is meant by income elasticity? *‘.:-_._al/l,'f:..l?d.n X
xi. What is meant by distribution of wealth? el ;Lf.::....)::(:d Xi
wii. What is meant by law of demand? '?::.,ﬂ/bf.::.....fibufb Xii
3. Write short answers of any eight parts from the following. 2x8=16 el i LTS I;:.dfa..u-‘.'J:Em -3
i Differentiate between stock and supply. ..J/L,!L«u/’u‘ ersl.v" 3
i Write four assumptions of law of supply. e \os oo L s ) 6 i
iii. What is meant by fall in suppw'? Tl /U’;-.L')Zm il
iv. What is meant by elasticity supply is less than unity? el /b".::..{:,db’f._ﬁ Jr; v
v. What is meant by market dis-equilibrium? '*‘4,: fLJ::,u;i:'r,uf.dy v
vi. What is meant by geographical mobility of labour? e /b'i:.dx.x- J’J du /?JH:-' Vi
vii. Differentiate between private and national capital. _J,fubu/J,,L y<') J’J.!l!f Vi
viii. What is meant by organization? - el (= il
’ ix. What is meant by efficiency of labour? S /J;:.Jb’slpri =t ix
. What is meant by small scale of production? "I'r;...sl U?:..u’uc,.rk' L_E X
- xi. Define law of constant return. z-.:."q..ﬂ/JJ’Ldefu:'b Xi
" wii. Write four disadvantages of large scale of production. wtw;bcﬁu’fx,k* &y Xii
R 4- Write short answers of any nine parts from the following. 2x9=18 -agutlf/"'ﬁfrir}:.éfa..gﬂ().@» -4
i, Write down kinds of cost according to time. ﬁc‘fxfru JJL::...:;W;LLJL_J: |
i. What is meant by Marginal Cost? sl Ve it
iii. What is meant by Marginal Revenue? '-“r_.a /Ja,dﬁf“ il
iv. Write down characteristics of Long Period. fojuhﬂﬂ.ﬂ/‘_}’ﬁ iv
'v. What is meant by Normal Profit? St Dby v
vi. What is meant by Firm's equilibrium? S eI L) N
vii. Write down four factors of Extension of Market. _J/ijJlf;hL..J’;de Vi
viil. Write down kinds of market with respect to competition. _J/Cff(uley.:.L- UL A i
ix. What is meant by Quasi Rent? sl Bt X
"y Write down four disadvantages of minimum wage. _Jﬁfutwgwi{ﬁ_,ﬂ X
xi. What is meant by interest? ";:..Ji/lf.:-_.:r Xi
- ii. Differentiate between net profit and gross profit. _2E ubu/’u” C’Lr-gr/nru"lp Xii
wiii. What is meant by speculative demand for money? el fbfc.._.ﬁ&;zj_zi._m:f ¥ Xl
Section-II 53 >
« 7 Note: Answer any three questions from the following. 10x3=30 kol );'f..nl.b‘-’z:uﬂlr Lﬁ .:;-Jf;.(ﬂd' 3y WL
¥ 5. \What is meant by Economic Laws? Write their characteristics. -J)’ul-._.«ur’?zfuf“;.:ybf;;u“l:’d L .5
) 6. Define elasticity of demand. Explain the factors affecting -J;JLFJJJFfLFJL/foJ J...Jl’..é J/’JJ gt 6
LA elasticity of demand.
' 7. Explain market equilibrium with the help of schedule and diagram. rI/Cl;.uluirf;u,»_;mJu;uﬁd,w 7
8. Define Monopoly and explain firms revenue under monopoly _,&L»:Jur'y‘:gf /Jz:d;lmbluiéub...d /Jd;l:ubl 8
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

*10.

i

¥2:

13.

14.

15.

16.

1z,

18.

19.

20.

1.1. The book "An Enquiry into the Nature and Causes of Wealth of S At Sﬁiﬁg{&‘(.ﬁmf:ffﬂ(:)ud}'f;!" 44
Nations" was written by: . ‘
(A) Adam Smith 7 (B) Marshall J7\ (C) Robbins #i, (D) Ricardo 5/
Consumers and entrepreneurs are guided in: ;:..dfdlﬂf;JJf Talclie 2
(A) Political Science =Ll (B) Economicsy=\l» (C) Physics LS (D) Chemistry u"d/
When marginal utility becomes negative, then total utility: b T b EaliF s 3
(A) Rises =4 (B) Falls <t/
(C) Becomes zero &t (D) Becumes negative ::_t'ru“
The other name of Equi-Marginal Utiltiy is Law of: a_r'l./uK(ﬁ;bld:Lzu;’L 4
(A) Demand YusF  (B) Subsitutuion JuFiysE (C) Supply svus (D) Costs il sl
The curve of linear eguation is: :‘;;,tmﬁ(,:_,n,pg,”bg 5
(A) Straight line (‘)In (B) Oval (% (C) Curved ,rhf' (D) Convex o«
Example of complementary demand is: | :.—:;_JI;"»J,__,U’{}:E B
(A) Cricket ball and bat ..u_;:;:rdgh:f/ (B) Book and mobile J‘i,mur.fl?"
(C) Water and shoes t‘P;ﬂJL (D) House and school J:“;:I/f
The downward movement along the demand curve is called: ;_JM.;,C?_,LFJQ {.__,Jbé; 7
(A) Fall in demand Lfb’...Jb (B) Rise in demand (=76 W
(C) Extension of demand tlzé_¥ (D) Contraction of demand t¥_b
Elasticity of supply of durable goods is: c:..dy'\..@(fy.q_,( Lﬁlﬁdf-k .8
(A) Less (B) More sl (C) Vertical ($f (D) Horizontal &'
Supply of fish is: , ) ,»_dm.;&}“‘ 9
(A) Long run supply seslb e p ) (B) Short run supply mJ.ﬂfJ?
(C) Market period supply (/15 (D) Variable
When demand and supply of goods rises equally, then the price of that gcnods o, JL!L-L?@JJUMJJ*fJJLU'( .10
(A) Falls r_dbf (B) Remains same r_u’.a{j'; (C) Rises r_dtmf (D) becomes zero .f-_der)‘
Mental and physical work is called: Ltﬂ»f'b’db—-uﬂ‘ju 11
(A) Capital .t (B) Organization [~ (C) Land (D) Labour =
Which of the following is not a kind of business organization? | ?%ﬁfJff'}g;gjgb’u’fucbtj@, 12
(A) Sole entrepreneur 27wl (B) Partnership /17
(C) Capital formation i xJ’C" (D) Joint Stock Company d'r J,.;L/f &l
Production according to demand is in: ;’"_.d.!".;hl_ﬂ_&“:f‘i.rb A3
(A) Large scale -2k (B) Small scale i2%k
(C) External economies u"U’ d-!/' (D) Internal economies u"hf'd:u,l ‘
From transportation facility is gained economies. er’ 5 S &, ,__,g.q;’ﬁj” 14
(A) External (54 (B) Internal (! (C) Private (f (D) Public {8/
One of the following is not fixed cost: ;.u”..:JL-ﬂ*u’/JL,tJ: 15
(A) Building's rent ,ijﬁ (B) Salary of watchman aff&!,d?’
(C) Wages of labour ;».Zi&u; (D) Purchase of machine J-!Ju"'
Difference between total revenue and total cost of a firm is called: e t!{g/dk;:b’u:bvﬁ:!dﬁfirﬁ 16
(A) Marginal Cost _,_.;;w?"- (B) Loss of firm uuﬁif(} )
(C) Profit of firm  Cu+bp/ (D) Profit of entrepreneur Et-6z7
Where marginal revenue is equal to marginal cost is called: :.—:_tlk-fﬂ_gf,gi_j;bﬂ*ﬁdr‘:ﬁul{q A7
(A) Consumer's equilibrium 9§ il (B) Firm's equilibrium /31767
(C) Market equilibrium  JI565 % (D) Buyer's equilibrium i17K1s 7
Which brings together buyer and seller? “a.t'U-ufuiJ A Keeds fnlin? 18
(A) Market (.~ (B) Consumer i/l (C) Government = @ (D) Firm ¢/
Interest is reward of: ety 19
(A) Land <) (B) Labour = (C) Capital L (D) Organization -2
Motive for transactive demand for money depends on: :.—;_t"muftls’._,#&}é_:" ;_-,jw-J} 20
(A) Interest /s (B) Rent .;;;JE’J (C) Wage /=2 (D) Income ,;n:BJ.T
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Marks: 80
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Section -I 2x25=50

2- Write short answers of any eight parts from the following. 2x8=16

Vil.
Viil.

Vii.

Viii.

Vii.
Viii,
iX.
X.
Xi.
Xii.
Xiii,

Note: Answer any three questions from the following.

5.

o~

©

i. What is meant by capital goods?

. What is positive science?

i, Define Economic Laws.

. Define consumption of wealth.

. What is negative utility?

. Write four assumptions of law of decreasing marginal utiity.

What is meant by marginal rate of substitution?
Define simultaneous equations.
What is exceptional demand curve?

. Write three causes of negative slope of demad curve.
i. Write formula of point elasticity.

ii. What is meant by derived demand?

Write short answers of any eight parts from the following. 2x8=16
What is meant by short run supply?

. Explain the difference between expansion in supply and rise in supply.
lii. What is meant by zero elasticity of supply?

. Differentiate between stock and supply.

. What is meant by Market?

. What is meant by Land?

What is meant by social mobility of labour?
Differentiate between wealth and capital.

. Write down the names of four kinds of business organization.

What is meant by Production Function?

i. What is meant by small scale production?
. Define law of constant returns.

Write short answers of any nine parts from the following. 2x9=18

. What is meant by average fixed cost?
. Define average variabel cost. |
ii. What is meant by firm's demad curve?
. What is meant by equilibrium of firm?

How is average revenue calculated?

i. White the relation between average revenue and marginal revenue under monopoly.

What is meant by extent of market?
Write down four characteristics of perfect competition.
What is meant by Marginal Land?
Define Quasi Rent.
Write down four objectives of Labour Unions.
What is meant by compound profit?
What is meant by interest?
Section-II
10x3=30

Define an indifference curve and write its properties.

. Wha is supply? Explain with the help of schedule and diagram.

. Explain the Law of Increasing Return.
. Explain the relationship between long run average cost and

marginal cost with the help of graph.

864-011-A-
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Marks: 20 Time: 30 Minutes «&430:9s 20:/:2
At 36312 "Mf)foflﬁdzfufzé_JDiﬂ,C,B,A&L'ﬁ;@kédlfﬁ 4% K@ﬁu‘i/ffdmgmémwv“ Y,
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heet provided. Four possible answers ABC&Dto

NOTE: Write answers to the questions on objective answer S
| the corresponding circle A,B,C or D given in front

each question are given.Which answer you consider correct, fi
of each question with Marker or pen ink on the answer sheet provided.

o Y (IS IOV LN Y

1.1. Buildings dams and bridges are____capital.
(A) Sunk 4b (B) Floating J/"' (C) Remunerative J/’:f (D) Personal A3
> The part of the wealth used in the production of further wealth is: LTl LUy pr sy 2
(A) Land (&) (B) Labour & (C) Capital L\, (D) Organization __ff-b}
e bk i 3

3. The application of Law of Decreasing Returns Is on: ;
(A) Agriculture z=#1.J (B) Industry 4:»:‘ (C) Trade 4&}(_;’" (D) Housing 4alﬁ,’J
4 The other name of Law of Increasing Rﬂﬁ_eturns 1S: :g_(ty;;KJ‘bfﬁuiG' 4

(A) Law of Decreasing ReturnsJ” L:Jf'w gjt‘s‘ (B) Law of Constant Returns J" bdufc)iti‘
(C) Law of Decreasing Cost il A6 (D) Law of Constant Cost J;wdbfuiﬁ'

5 With the increase in output,the average fix cost: :J;wc/f) bele Slol sl .5

(A) Increases (Ji&Z (B) Decreases ujZ.j

(C) Remains constant %:;.;Jv (D) Becomes zero Jt Loy
5. Which of the following is not included in variable cost? ?,.:;_uﬁULﬁuﬁJ;w/ff‘Lifa;(ﬂJJ@ﬂ 6

(A) Price of Raw Material af JJL"G (B) Wages of Labourers c.,szum;j'

(C) Advertisement d)l,zt;?jl (D) Rent of Building ,:_fl/&:.ulf
< [y b> b/_",x_’j J(/.:}ZJ LB'»J’( 4

7. Under perfect competition,firm's price curve remains:
(A) Horizontal (" (B) Vertical (¢ (C) Positive = (D) Negative (&

8. Average Revenue is equal to o rsled bl 8
(A) Income LJ4T  (B) Demand L (C) Supply L4 (D) Price L=

:.:;_t‘tglf(c,fumﬁzb:id/mffuh{u:/'uﬁdj?f .9

9 A market condition in which all the firms are producing
homogeneous commodity Is called:
(A) Monopoly (/b
(C) Monopolistic competition

10. Marginal Cost of Labour is equal to:
(A) Income Jﬂ (B) Consumption 2/ (C) Wage =z (D) Profit %

11. Economics was considered as a science of material welfare by: :L;;l}(kfcwd;tfmg%f 11
(A) Marshall -7l (B) Keynes < P (C) Adam Smith  #»7 (D) Robbins .

12 The name of book written by professor Robbins is: :G;_(EK_:,C(J 7‘:!;/:.3;4 12

(A) Principles of Economics O
(B) The Nature and Significance of economics ;ﬁﬁuafiJgfbf

(C) Science of Wealth (l’ K (D) Wealth of Nations (l;l..ng; |
13 When total utility falls,Marginal utility S '{.,t'm.:slﬁ?‘.f_.t'/;;ﬁif__,z A3

: (B) Negative ig (C) zero (D) Maximum oslje—oslJ

(A) Positive =<
14. The utility of last unit of commodity consumed is called: ‘o TM;_E;]WKIJ/"U!;LL?JJ/J&JK 14

(A) Total Utility »»61° (B) Marginal Utilty o617
(D) Positive Utility SR

(B) Duopoly o/bs

A rAVTYI™d (D) Perfect competition J:L‘E»J"{
s L=t A0

(C) Negative Utility es6/¢8”
15. Supply function Is: . :a;.,,wJ‘lﬁJ i i
(A) Increasing d/:f (B) Decreasing &M (C) Inverse J:a‘ (D) Implicit /"
Zq:.,?:Jfl/bCffjffﬂgﬁﬁJ 16

16. The cause of construction and extension of Demand is:

(A) Income 4T (B) Price oy (C) Population ~ (st7 (D) Technology SLe

17 Due to rise in demand,the demand curve shifts: +tﬁfJML&2£J 4
(A) Right u:;l.: (B) Left u:fg (C) Upward 2 (D) Downward éﬂ_

18. The quantity of commodity existing In warehouse is called: :;L:_ngrClﬁfJf;:Jﬁruﬁ(bf 18
(A) Demand — (B) Supply 4~ (C) Stock n/.?j (D) Income AT )

19 Due to fall in supply,supply curve shifts to: :%bﬂﬁMJ%JLL‘ILMJ 19
(A) Right side J)’u_f’b (B) Left side ..J)U:Q (C) Vertical $ssF ) (D) Horizontal &

20. If supply decreases greater than demand,the price: :‘g..dﬂc,f?ﬁ a)&i&'{jJ__/«wMJj 20
(A) Decreases ( (B) Increases »LJ (C) Zero (D) Infinite 1247
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K.conomics (Essay Type)
Time: 2:30 Hours
2- Write short answers of any eight parts from the following.

I
11

(For all sessions)

Section -I Total Marks: 80
2x8=16
iI. What i1s meant by scarcity of resources?

iv. What is meant by wealth?

What is meant by Economic Problem?
What is meant by function?

v. Define law of equi-marginal utility. vi. Write definition of economics by professor Robbins.
vii. What is meant by "point of satiety"? viil. Write four types of variables.
IX. What is meant by composite demand? x. What is meant by extension in demand?
xi. What is the difference between demand and desire?
xii. Write four important aspects of Adam Smith's definition of economics.
3- Write short answers of any eight parts from the following. 2x8=16
.. What is difference between Supply and Stock”? 1. Write down two assumptions of law of supply.
ii. What is meant by market period supply? iv. What is meant by fall in supply?
v. What is meant by market equilibrium?? vi. Write two assumptions of law of Increasing Returns.
vii. What is meant by production of wealth? viil. Define capital formation.
iX. Write four characteristics of labour. X. What is meant by scale of production?
xi. Define labour. xii. Define Law of Constant Cost.

4- Write short answers of any nine parts from the following.
.

1.

V.

VII.
IX.

X.

(R
Xil.
XHI.

2x9=18
. Differentiate between fixed and variable costs.
iv. What is meant by average cost?

What is meant by Short Run?

What is meant by Marginal Cost of Labour?
What is meant by average fixed cost? vi. Name the kinds of market according to competition.

What is meant by Total Revenue? viil. Define Market.

Firms usually earn normal profit in the long run.Why?

Write kinds of market with respect to time period.

What is meant by price mechanism?

What is meant by perfect mobility of factors of production?

When does a firm working under perfect competition earns normal profit?

Section-II
Note: Answer any three questions from the following.

10x3=30

5. Critically analyse Alfred Marshall's definition of Economics.

6. Explain Marginal productivity theory with the help of schedule and diagram.

7. What is meant by Supply?Explain different kinds of supply according to the period of time.
8. Explain law of increasing return with the help of schedule and diagram.

9. Define elasticity of demand.How is it measured by percentage method?
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